Get out your homework and start checking/correcting your answers.

Classwork - Simplifying Expressions with Like Terms and Distributive
Property

1) For each expression below, use the distributive property to simplify the expression. Lise an area model for
the factored part of the expression (o find the expanded form of the expression. Rewrite the simplified

expression,
A) 3(x+5) C) 3(3x-12)
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2) Simplify each mqressmn to dem:l& whether the 2 Emﬁsmrﬁ are equmalam or not., Shm' wnrh to prove
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A) Expression #1
H(2x +3)
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B) Expression #1
3(5x - 2)
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Warm Up: Create an area model to do the distributions below. Remember, the operation goes with the number

afterit in your area model. Then find the area of each lm'-:p anded fnrmgq + !
X —3(2x — C) 10 —4X
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When simphfyving expressions involving the distributive property and combing like terms you want to follow
the order of operations.

Simplify the following expressions.

Example: 4(2x —3) + 5
1) Create an area model to distribute the number (SIGN INCLUDED) we are 4| 8x |-12

2) Rewrite the expression. Bx ﬁ.-@

3) Combine like terms
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4) —4(4x — 2) + 5x
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The following problems will require 2 different area models. After vou create the expanded expression,
simplify like terms.
13)6(x + 1)+ 2(x — 4)

15) Simplify each expression to d®¥de whether the 2 expressions are equivalent or not. Show work to prove
vour answer, Equivalent expressions have the same simplified expression affer vou combine like ferms,

A) Expression 51 Expression 52 -
Sx+4—-—Tx+2 (Circlagione i nswer) —2{x+2)+ 10
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B) Expression #1 Expression £2 = 2.1+
-B8x+5+3x-9 (Circle Your Answer) -2(2x + 2) + x (0
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